DELH] PUBLIC SCHOOL, DURGAPUR
QUESTION BANK FOR BLOCK TEST - 1 (2018-19)

CLASSXI = -
SUB:MATHEMATICS * ™. . .

RELATIONS . FUNCTIONS AND BINARY OPERATION
1. Let A= {1 2,3,.. 9} and R be the relation in AxA defined by (a,b)R(c, d) a+d b+c for (a,b), (c,d) in AxA .

Prove that R is an equ1valence relation and also obtain the equlvalence relatlon [{2 5}]

2. Show that the relation R in the set A of real numbers deﬁned asR= {(a,b) ‘a Sb} is reﬂexive and transitive
but not symmetrlc ; ' i
3. Show that the relation R in the set Z of integers given by R = {(a b): 2dzv1des(a b)}ls an equivalence relation
4. Let R be the relation on'R defined as (a ; b) e R iff 1+ ab> 0V a,beR (a) Show that R is symmetnc
(b) Show that R is reflexive. (c) Show that R i is not transitive.
5. Show that the relation Ron A, A={x|x € Z,0< x<12: } R={a,b): Ia bf is multlple of3 }is an

equivalence relation. _
6. Let A= {-1,0,1} and B = {0, 1} State whether the ﬁmctlon f: A — B deﬁned by f(x) X2 is bljectlve

b
7. Let*bea bmary operatlon on the set Q of rat10nal numbers defined as a * b = a? Write the 1dent1ty of *,

if any.

8. Let A=QxQ. Let * be a bmaly operatlon on A deﬁned by (a,b)*(c,dy= (ac ad+b). Find: (i) the 1dent1ty
element of A (ii) the invertible element of A. . .°

9. Let A=NxN & * be a binary operation on A deﬁned by (a b) x (c; d) (ac, bd)
for all (a, b),(c, d) € NxN (i) Find (2,3) * (4,1) (ii) Find [(2,3)*(4,1)]*(3,5) and (2, 3)*[(4 D* (3, 5)} &
show they are equal (iii) Show that * is commutative & associative on A.

10. Show that the function £ R —> R, defined by £ = 3 "+1

Jorall xeR is neither one — one nor on\to.i

11. If the ﬁmctlon f R——)R ,1s given by f{x) = X +2 and g R — Ris given by g(x) = ——1~ ;x #1, then find fog

and gof and hence find fog(2) and gof (-3) ,
5415y —3J

12. Con51der f: R —)(—9 o) given by f{x) = 5x? +6x -9 Prove that fis invertible with f~ ( )= ( =

where R, is the set of all positive real numbers. , , P :
13. Con’sid,er the set S = {1,2,3,'4}'. ‘Define a binary eperation *on S as follows : a*b=t, where r is the least non
negative remainder , When ab is divided by 5 . Write the operation table for *

INVERSE TRIGONOMETRIC FUNCTION

1.If sin {sin‘1 §+ cos™ x} =1, then find the value of x e

2. Find the value of , tan™ [2 cos {2 sin™ %H
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3. Write the function cot™ («/ 1+x + x) in the simplest form.

4. If cos™ §+ cos! % = 6, then prove that 9x* ~12xycos 0 +4y” = 36sin*6

5.Iftan ' a+tan'b+tan'c=7z ,t prove that a+b+c =abc
6. If cos™ a+cos™ b+cos” ¢ e 7 , prove that a® +b* +¢* +2abc = 1

7. Solve forx tan“‘-)fi%+tah-{:1=tan“(—7) L ™ 'Solverfor'x: sin“(l~—-.‘>‘:)—-Zsin‘1x=—72{'C
- A x— x ' e

9. Solve for x : tan™ x—cot™ x =",tan"1;7l_§ 4 10 Show that 2tan“1 {tan 3 tan(i:- —Ej} =tan™ [MJ

2 cosa +sin
11. Prove that : 28 n (1-) &2 gin™ —-{g— 12. Prove that 2tan™ (lj +tan” (lj =tan”’ (ﬂ
Vo8 A3l a 3 \2p T \7)7 T
13. Prove : tan(z +Los™ g}"‘ tan| Z - Zeos™ 2= (‘Zé 14. Solve for x ; tan™ 3x-+tan™ 2x="—
| 42 b)) 4 2 b) \a 4

15. Find the value. of the expression : sm(z tan™ —)+ cos(tan 242 )
DIFFERENTIATION
w +Dx+sinx .

<0

x s . )
may be continuous at x =0

1. Determine the values of a,b, ¢ for which the fanction p,

c,x=0.
«/x +bx —J— x>0
b
1- cozs 4x 2<0 ‘ =~ o
2.Let pyy=lax=0 Determine the value of a if possible so that the function is continuous.at x = 0

=
[i6+dx -4

x>0

. . | asinZ x+D,x<0 '
3. Find the value of a-for which the function f defined as r(x)= J 2 is continuous at x =0
T ’l‘tanx—sinx 55

] TR
X
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x—4
——+aifx<4
. | |4

4. Find the value of a and b such that the function f defined by f@)=ia+b,ifi=4
ke o S b, x> 4

k-4

is a continuous function at x = 4
5. Discuss the contmulty of the ﬁmctlon f(x) I +]x—1 atx=1
6. Find the denvative of |

(1) tan l:\/1+x —1-x’ (ii)tn_{\/1+smx+\fl smx‘} O<x<r (111) y.-sm [x [__l—x—_;\[;/l—xz}

\/1+x +\/1 x° J1+sinx —+/1—sinx

‘ A = ’ . yx+ ’ P 1
(iv) y=cos™ 3&4_1_}_ (V) y=cos™ 7 (vi) y= cot l-l:-J—c——l ,Xx#0 (vil) y=x"** +sin x"*
) 243x
7.1 = &, prove that 2 H_ logx 8. 1) = (3”J , find £'(0)
dx (l+10gx) +x
9. If x4 1+y+y\/1+x =0, for - 1<x<1 show that @= = 2
d'x (l+x),

sin” x

Vs

11. If x =a (cos t +t sin t)and y = a (sin t —t cost), then find

10. If y=

showthat(l )5 y 3x?x y-’-——:‘ON

2

d’y
2

-2 0 et
; +

12. Ifsiny = x sm(a+y), prove that dy_ sm (a ,y) o
- dx sina

13.If 1-x +\/1 -y =a(x— y) provethatzx—: -

14. Ify = ™" A ¢ ,prove that (1-x*)y, - xy, =m’y. 15'". Ify= sin(mssih" x), prove that (l—xz)y, —xy, +m’y=0

)wrt\/-—

16. leferentlate sec” (2

17.1f J1-x +,/1 y° —a(x y) prove
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18. If x= a{cost+log(tan%)} ;) y=a sih;t,u, sth‘tha %ﬂ”’—“l,aﬁ, = —;E

19. Ifx=sin t and y = sin pt, pr‘q-ve’thét :(1.—x2)y2 -x+ply=0 "

20. If y = Ae™ cos (pt+c) , then show that y, +2ky, +n*y =0, where n? = p? +k?
MATRICES AND DETERMIthNT

T ﬂ 3 ' :
lFmdx Y,ZsothatA B where A= ,: 4 21 Bz[y z 6]

182 y+t2 6z 6y x 2y
3 2|1 Lo
2. Fmdthe value.of x suchthat [1 x 1] 2 5 1|[2|=0 o
: 15 3 2 x - ‘

11+2n *—472]
, for
n 1-2n

3. Prove the following by principle of mathematical induction If A=,:1 _ 1:}, then A"‘:.[ ‘
every positive integer n.

4. Use matr1x multiplication to divide Rs 30, 000 in two parts such that the total amount mterest at 9% on the first
part and 11% on the second part amounts Rs 3060. B

3 5] . TR
5. IfA:I:-4 2J,then find A? -5A—14I.Henceobtaih AP

S sino y
6. If A4 =[ ce “ ],, then verify that ATA = 1,

—sinx cosa
13 2 -4 -
7. Express the matrix | 3 -2 -5 |as the sum of a symmetric and skew - symmetric matrix and verify your

result
8. If A is an invertible matrix of order 3 and | =5 ,-‘{henz find Jadjd]
9. If A is an invertible matrix of order 3x3 such that [ J —2 then find adJ(ad}A)

3 21 4 6 | i
10.1f 4= S]ar_;d B=[3 2},verifythat(AB)“=B‘,1 A

3 R - v -
11.if 4= [ 2], find the vatue of 4 sothat A2= 1A -2L Hence find A~
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1 -2 3
122If A=| 0 -1 4/, find (AT)?
-2 2 1)
'3 -3 4]
13. Find the inverse of |2 -3 4 |by using elementary row transformations.
0 —1'”1"

14. Solve the followmg system of equations by matrix method :

, 3x+4y+7z 14

2x-y +3z=4
x+2y-3z=0 TR . U ey L
15. 4=|3 2 —4 |, find A‘? and hence solve the system of linear equations :

-k 1 -2

2x -3y+5z =11, 3x+2y-4z="-5 , x+y -2z ="-3

A school wants to award its students for the values of Honesty, Regularity and Hard
work with a total cash award of ¥ 6,000. Three times the award money for Hardwork -
added to that given for honesty amounts to ¥ 11,000, The award money given for
Honesty and Hard work together is double the one given for Regularity. Represent the -
above situation algebraically and find the award money for each value, using matrix
method. Apart from these values, namely, Honesty, Regularity and Hard work, suggest‘ '
. One more value which the school must mclude for awards ‘

17. A tQtal amount of Rs 7000 is deposited in three dlﬁ'erent saving bank accounts with annual interest rates 5% ,
8% ,and 8 —12— % respectively . The total annual interestﬁom these three accounts is Rs 550 . | Equal amounts have

been deposited in the 5% and 8% saving accounts . Fmd the amount deposited in each of the three accounts , with
the hel[p of matrices . L e

18. Evaluate without expanding :

1 4 9| "827
@4 9 16 G2 3 5
9 16 25 16 4 3
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19. Prove that

a+b+2c a b a——'b'—,‘-’c 2a 2a
| ¢ b+c+2a b |=2a+b+c)  (i))| 2b b-c-a  2b |=(at+b+c)
c a c+ya_+2b“ 2c 2¢  c—a-b
a* be  ac+c’ la* +1 ab:“i"’_.’\ac
(iii) [a*+ab B ac |=4a’p*c? (v) | ab  b*+1 "~ be |=1+a* +b* +c?
ab b?+bc -  Jeca b P+l
lbe—a® ca—b* ab-c* a-b -c‘2 3a  -—a+b —a+c
(Wca-b*> ab-c* bc-a*|=p ¢ a (i) [-b+a 36  -b+c =3(a+b+c)ab+bc+ca)

ab-¢c* bc-i‘az' ca-b*l lc a b —cta -c+b 3¢
b?+cz'i ‘ab ac (h+c)’ i a4 ol
(vii) ‘ ba ‘cz+a2'~ be | =44a*p2? (viii) | - b (c+ajz —pE =Zabc(a%:é*l;c)3
- ca ch  a*+b’ 1 & (a+b)
x-2 - 2x-3 3x-4
20. Solve : (x—4 . 2x-9 3x-16/=0
x-8 2x=27 3x-64/
. 1+a 1 1
21. Provethat | 1 1+ 1 =abc(]+—l—+l+.}-)=dhC‘+ab+bc+ca
d a b ¢
1 1. 1+c¢ :
INDEFINITE INTEGRALS
Evaluate ; #
- 2 " 53 v’ ..‘A . 4
L J- = et J- x +12 " 3 Icos‘5x>+cos4x K 4 _‘.Sln(.x' 9D
N3x+4=3x+1 (x+1)* 1=2c0s3x sinx
1 ex—é'."' i Sin g i
5. _— x 6. |———dx 7. dx
jsin(x—a)cas(x—-b) J'ex +e* Iaz sin” x +5° cos® x
2 i "k | _ g :
8. J'de R ~ —=dx,a #nz,neZ 10. ‘[—-———L—-———;dx
(a+btan2x) ,‘Jsi?}??csin(x‘+a) ’ xz(x4+l).§
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11. I\/e ~1dx 12. j——dx 13. I——-———-—»-afx 14, jsm xcos® xdx

xx' x’~+x
(x* +1) J(x 1 (x 2

18. [———dx 19. sz“"szxdx 20. [Vseer—1ds 21, s o)

J‘\15 4e J--J9 ~COS 2x ’[ '[ sin(x+a:)

2x-3 o f XL
L -{x +3x= 18 23'J‘x2==5x+6 24 j,/x 2 15x46 dx 7 J. a+xdx
26, j——u—— bodl™ o9 Jio ¥ 3 ok j 3cosx+2
2—30052x \Bsmx-t-cosx : smx+2cosx+3
sin™ fx —cos” J_ e

29. j(sm x)’dx - 30. jcot (1- x+x)dx 31j

sin ‘\/_+cos ‘J_
xsin™ x S ,1~x'- Rl o
32. dx 33, |t —dx 34. —dx
J..h X2 Ian I+x Ism Va+x

" ;(1—‘x)2 e =y
35. | {1og(1ogx)+( gx)z}dx 36. [e «-—-——(l—l-.xz)zdx..??_ j Y

38, j(sx I rxelde 39, [— e 40, [— 2
Sinx—sin2x x+\/x2—x+1
smx 1.'
41. 42. |tan 8 ++/cotOdO 43. dx 44 :
J'sm 4x J. e J j(x—l)\/x+2 '

‘ , 1 . . 5 ,
45 ‘[(x 1)Vx* +1 46 j(x2+2x+2)Jx+1 h '4"]‘.:~_,J.(x2—1)w/x2+ll‘f B

smx+co¢x -7 iy tan &+ tin>@
LA N an” &
8. I51n x+cos'x i I x2+1)\/__1dx J 1-+tan’ ?

L I PR R o
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DEFINITE INTEGRALS

Evaluate :

L j); 1T 2 !mn‘l(l_‘_x de 3 ﬂsx 3 4 j(|x-1|+lx-21+.;x53l)dx

z

5. ”:x flog(l+tanx)dx 7
% xsinxcosx " : i %
¢ sin* x +cos® x . }
T Xy | t 3.4, v”2x(1+:sinx) . T /1
9. [—"—euir 10 [ &sin*xax 11, [Z2ESND, 12—l 4
5 1—cosasinx —_ : | 1+cos®x I tanx
3 i o

Evaluate the following definite integrals as limit of sums: -

3 | 3
13. j (430 14 [@2x+5)
S 4 "y [
AREA OF BOUNDED REGIONS

1. Using integration , find the area of the tnangle ABC whose vertices have co ordmates A (2 5), B(4, 7) C(6,2)
2. Sketch the graph y = |x+1]. Evaluate j x+ lchv What does this value represent on the

graph? '

3. Find the area bounded by the curve y = smx between x=0andx= 27

4. Find the area cut off the parabola 4y = 3x? by the straight line 2y = 3x+12
(27sq units)

5. Indlcate the region bounded by the curves x? =y , y x+2 and X — axis and- obtam the
area enclosed by them . - ik , ' 4. (5/6 sq units)

6. Find the area lying above the x — ax1$ and included between the mrcle x? +y2 8x and
the parabola y2 4x ‘ | o 3(8 + 3#) sq units

7. Prove that the area bouhded,by the parabolas y? =-5x+6 and x* =y is 81/15 sq unit?S
8. Find the area in the plane bounded | by the curves y =x-1 and (y— )2 = 4 (x+1)
64/3 sq. units

g
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9. Find the area of the region {(x y):y* <Ax,4x’ + 4y"" < 9} .

10. Sketch the region common to the circle x2 +y? = 16 and the parabola x> = 6y Also find the area of the region

using integration. [4J— + 1—25] sq umts

APPLICATION OF DERIVATIVES

RATE MEASURES :

1. The radius of a balloon is mcreasmg at the rate of lOcm/sec At what rate is the surface area of the balleon
mcreasmg when its radlus is 15 cm ? : S : :
2.A particle moves along the curve y = g— 345, ‘Fi‘n'd the points on thehcurveattwhich y-coordinate eh;auges as
fast as X~ co ordinate: ' | :

3.A ladder 5 m long is leaning agamst the wall The bottom of the ladder is pulled along the ground, away from
the wall, at the rate of 2cm/ sec. How fast is its height on the wall decreasing when the foot of the ladder

is4m away from the Wall.

4. Water is passed into an inverted cone of base radius 5 cm and depth 10 cm at the rate of 5 c.c/sec. Fmd the rate
at which the level of the water is rising when depth is 4 cm S

5. The two equal sides of an isosceles tnangle with ﬁxed base b are decreasing at the rate of 3 cm per seeond How
fast is the area decreasmg when the two equal sxdes are equal to the base ? :

6. Aman 1.6 m tall Walks at the rate of 0.5m/sec away fmm a lamp post, 8 mts high. Find the rate at which his
shadow is increasing and the rate at which the tip of the shadow is moving away from the pole.

7. Water is drlppmg out from a conical funnel , ata umform rate of 2 cm? /sec through a tmy hole at the vertex at
the bottom , when the slant height of the water is 4 cm ; find the rate of decrease of the slant height of the water ,
given that the vertical angle of the ﬁmnel is 120° . - !

8. Sand is pouring from a pipe at the rate of 12cm3 /sec The falling sand forms a cone on the ground in such a way
that the height of the cone is always one-sixth of the radius of the base How fast is the height of the sand — cone
increasing , when the height is 4 cm ?

9. The volume ofa cube is increasing at a constant rate- Prove that the increase in its surface area varies inversely
as the length of the 31de

10. For the curve y = 5x -2x3 ,ifx mcreases at the rate of 2 units /sec , then how fast is the slope of curve changing
whenx=3? :

11. Use differentials to approximate fourth root off 255
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12. Find the approximate value of +/0.0037

13. Find the approximate value of f5.001), Wh;fe fix)=x> -M7x2 5

14. Find the approximate change mthe volume V of a cube of side x mts causgd by increasing the side by 2%
15. Ify=x*-10 and if x changbs from 2 to 1.97 , what is the approximate &hange iny?

INCREASING AND DECREASING FUNCTION

1. Find the intervals in which the functlon f g1ven by f(x) = sin x +eos X, 0<x <2z, is strictly increasing or
strictly decreasmg :

. Show thaty = log (1+x) = 2—2)—5— , x>=1is an iricréasing function of x , throughout its domain.
+Xx - #

3. Find the intervals in which the functions are increasing and decreasing

() fx) = 25 = O H12x +15 (i) fx) = (x-1)° (x:2)? (i) 250 "212)‘ “XCOSY 0<x<2r
P 2+ CO8X ‘ Wi,

4x* +1

(iv) f(x)—sm x+cos xm [ } (mflx)= -x 4x 45x +51 (v1)f( )=
1

(vii) f(x) X + 4 x:t()

4. Show that f{x) = tan" (sin x + cos x ) is an increasing function on the interval (0, %)

5. Proi/e that f(8)= _4sin6 —fis an mcreasmg functlon of Hm [ ”]
; 2+cos@ 2

6. Prov; that the function i{x) =x? —x +1 is neither ﬁiCreésmg nor decreasing on (—1 1)

7.F md the least Value of*a’ such that the functlon f(x) x? +ax +1 is increasing on [1 2]. '

Also ﬁnd the greatest value of ‘a’ for which f(x) is decreasmg on [1 2]

: . i
8. Show that fix) = e*,x # 0 isa decreasing function for all x #0 .

9. Separate [0 z] into sub - intervals in which f(x) = gin 3x is increasing or decreasing.

10.Separate [0%} into sub - intervals in which f(x) = sin® x + cos’x is increasing or decreasing.
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TANGENTS AND NORMALS

1. Prove that the tangents to the curves y = X2 4—‘55( + 6 at the points (2,0) and (3,0) are at right angles .

2. Find the slope of the normal to the curve x = acos’ 6,y = asin® 0 at 6 = =

3. At what point on the curves X? +y? -2x -4y +1=0 , the tangents are paraillellt to the y — axis ?

4. Find the;‘pvoints on the curve 3;— - 116 =lat which the tangents are parallel to the (i) x — axis

(11) y - axts | v ‘
5. Fmd the co ordmates ofthe pomt on the curve \/; + J— 4 at whlch tangent is equally inclined to the axes.
6. Find the pomts on the curve 9y? =3 where normal to the curve makes equal mtercepts w1th the axes
7. Fmd the points on the curve 4x +9y2 =1 where the tangents are perpendlcular to the line 2y+ X= O

8. Find the equatlon of the tangent line to the curve x =1+ cosd ,y= @—sinfat § = —4—

9. Find the equations of the tangénts and normalgt the;.point ‘t’ on the cunte x=asin’t \ y =bcos’t

10. Find the equation of the tangent line to the curve y - \fo——_F—; -2 which is parallel to the line
4x-2y+3=0 \ ; : ', , S

11. Flnd the equatlons of the tangents drawn to the curve y2 2x —4y +8 = 0 from the pomt (1 2)

12. Fmd the equattcm of the normal to the curve x2 = 4y which passes through the pomts (1 2)

13. Prove that all normals to the curve x=a cos t “+at sin t y asint-—atcost are ata dlstance a from the origin

14. Find the equations of all lines of slope zero and that are tangent tothe curvey= y= ior3
: Xt -2x

15. Prove that (E) + (_b)i) = 2 touches the straight line- x +% =2for all n e N , at the point (a,b)
a : a 5 i o ,

16. Find the condition for the curves (—Jﬁj = (%j =land xy = ¢? to intersect orthogonally .
{4 : .

MAXIMA AND MINIMA ;
1. Show that of all the rectangles inscribed in a given circle, the square has the maximum area

2. If the sum of the lengths of the hynétenuse and a side of a right _angted' triangle is given , show that the area of
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the triangle is maximum when the angle between them is Z;— :

3. Prove that the area of right — angled triangle of given hypotenuse is n!am'mum when the triangle is isosceles.

4. An‘open box with a square base is to be made out of a given quantity of card board of area c? square units .
3

C
6\3

5. Show that the triangle of maximum area that can be inscribed in a given c*irckle is an equilateral triangle.

cubic units.

Show that the maximum volume of the box is

6. A wire of length 36 m is to be cut into two pieces . One of the pieces is to be ‘made into a square and the other
into a circle . What would be the lengths of the two pieces , 50 that the combined area of the square and the circle
is minimum? Y »

7. Find. the volume of the largest cylmder that can be mscrlbed ina sphere of radlus rcm

8. Show that the helght of the closed cylinder of glven surface and maximum volume s equal to the dlameter of
its base . : ¢

DIFFERENTIAL EQUATION ~

1. Determine the order and degree of the

B fix{ +( g y] +%f4y =sginx (it) a{——«ksin(%) =0

2. Form the differential equation corresponding to y2 = a(b-x)(b+x)by eliminating parameters a and b -

3. Find the differential equation of all circles in the first quadrant which touch the coordinate axes.

@

—m’y=0
I e U

. e .
4. Vetify thaty = e’"‘f"s—l:" satisfies the differential equatioh (1-x" %X—JZ— —X

5. Solve the folle‘u/ing differential equations:

(1) \/1+i2+y2+xiy2 ;ny—?—xr-o (ii) (x+1)a5/—-2e‘y—1 y(O) 0 (iii) i+1’i =0
(iv) % = eos(x + y)+sih(x-t— y) (V) (¢~ )dx +2xy~ dy 5’10 , giveh that B ‘1; when x=1
(vi) (3xy +y? )dx + (x*> +xy ) dy =0 (vii) x%sin(y]+x ysm( J Oy(l)——
. X x
ay __x+ycosx

(viii) xlong,;”:%ng’x%q o %?

; (x) (x-siny) dy +(tan y )dx = 0 , y(0) =0
l1+sinx o

(xi) y1-y*dx=(sin™ y~x)dy, y(0)=0
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LINEAR PROGRAMMING

1. A dietician wishes to mix two types Vo‘f foods in such a way that vitamin contents of the mixture contain atleast
8 units of vitamin A and 10 units of vitamin C. Food ‘I’ contains 2 units/kg of vitamin A and 1 unit/kg of
vitamin C.Food ‘II’ contains 1 unit/kg of vitamin A and 2 units/kg of vitamin C. It costs Rs 50 per kg to
purchase Food ‘I’ and Rs 70 per kg. to purchase Food ‘II’. Formulate thlS problem as a linear programming
problem to minimise the cost of such a mixture.

2. A factory manufactures two types of screws, A and B. Each type of screw requires the use of two machines,
an automatic and a hand operated. It takes 4 minutes on the automatic and 6 minutes on hand operated machines
to manufacture a package of screws A, while it takes 6 minutes on automatic and 3 minutes on the hand
operated machines to manufacture a package of screws B. Each machine is available for at the most 4 hours on
any day. The manufacturer can sell a package of screws A at a profit of Rs 7 and screws B at a profit of Rs 10.

»_Assummg that he can sell all the screws he manufactures, how many packages of each type should the factory
owner produce in a day in order to maximise his profit? Detérmme the maximum profit.

3. A farmer mixes two brands P and Q of cattle feed. Brand P, costing Rs 250 per bag, contains 3 units of
nutritional element A, 2.5 units of element B and 2 units of element C. Brand Q costing Rs 200 per bag
contains 1.5 units of - nutritional element A, 11.25 units of element B, and 3 units of element C. The minimum
requirements of nutrients A, B ‘and C are 18 units, 45 units and 24 units respectlvely Determine the number of
bags of each brand which should be mixed in order to produce a mixture having a mmxmum cost per bag"
What is the minimum cost of the mixture per bag?

SYLLABUS FOR BLOCK TEST —1

Relations and Functions, Inverse Trigonometric Fiinétions, Matrices, Determinants, Continuity and Differentiability

Differentiation , Applications of Derlvatives, Integrals Applicatmns of the Integrals, Differential Equations, Linear
Programming ;
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